Honors Algebra 2 Winter Break Work
Name:

Show work on a separate piece of paper!!!

We have a final exam coming up... Let’s not forget tings we’ve learned so far!

Simplify the expression.

Re=1)+2e =1

a  l0e=10
b, Be=6
=Hw=2)=25=dw
a. -3
b, -19
Solve forn: —Sm—n=m+7Tn
a ”_ﬁm+n
-7
b n:-%m

10. Graph fix) = —;x—ét.

11.

¥

HHH - HRY BT

8e=10
10e =6

Find the slope of the line passing through the points

(=7.-1) and (-6.5).



Graph the equation.

12. x==5
a. none of these (14 : ‘
T 1 _//
b | d. | |

13. Find the x- and y-intercepts of y ==4x=5.

. . . < -
a. x-intercept: —4: y-intercept: -5 c. x-intercept: -‘—‘;_ybmlercept: -5
. 2 : : 5
b. x-intercept: -5; y-intercept: -4 d. x-intercept: —5: y-intercept: 2

14. Graph the linear equation by finding x- and y-intercepts. 2y =3y = =6
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18. Write the standard form of the equation of the line that has slope —2 and passes through the point [&, 2].

=2x+y=-=14 c. Zx+y=14
x=2y==10 d. =x+2y=10

19, Graph the function defined by v = [x—16|.

20.

21

22,

fr—2y <—12

a.

b.

A rental car agency charges 517 per day plus 7 cents per mile to rent a certain car. Another agency charges $22

per day plus 5 cents per mile to rent the same car. How many miles per day will have to be driven for the cost of a
car from the first agency to equal the cost of a car from the second agency?

a. 195 miles per day c. 1950 miles per day

b. 2500 miles per day d. 250 miles per day

Solve the linear system.

—ix—dy=§

“x—2y =6

a. (=4, 1) d. nosolution

b. (=5.5) e. Infinitely many solutions

c. (=3.2)



23, —3x—3y=—

y=-x+1

a. (4, =4) d.  nosolution

b. (=5 =5) e. infinitely many solutions
c. (2,=5)

24. Mr. Frankel bought 5 tickets to a puppet show and spent $22. He bought a combination of child tickets for $2 each
and adult tickets for $8 each. Which system of equations below will determine the number of adult tickets, a, and
the number of child tickets, ¢, he bought?

a. Ba+2c=32 ¢ 2a+2c=137
a+c=5 a+c=5
b. a=c-8 d a+c=110
Ba+2c =22 a+c=5
Graph the system of inegualities.
25 y<=—x+4

y22-3




Graph.

28. yv=(x+2)"-5

29. Graph the function. Label the vertex, axis of symmetry, and x-intercepts.

v=—3r—4){x-2)

a. c.
vertex: (3, —3) vertex: (3, 3)
axis of symm: x=3 axis of symm: x=3
x-intercepts: 2, 4 x-intercepts: 2, 4

b.

vertex: (—3, 3) vertex: (—3, —3)
axis of symm: x =3 axis of symm: x = —3
x-intercepts: =4, =2 x-intercepts: =4, =2



30.

3l

32,

33

35.

36.

39.

Write in standard form.

y=—(x=2)"-2
2. y=-x —4dx+6

b. y=—x +4x+6

Write as the product of two factors: 2 +x—15

a  (2x+35)x-3)
b. (Zx=5)(x+3)

C.
d.

Name one factor of the expression: 1dx* —5x—6

a. (2Zr—6)
b, (2r+6)

Factor the expression: 16x° —25

a.  (dr+5){4x-5)
b, (16x+1)(x—25)

Solve.

¥ —9r=0
a. =99
bh. 0.9

A —Tar +28 =0

17
& T2s
17
b. 'S
Factor completely.

24u’ +66u’ +45u°
a3t (2u+5)du+3)
b, wi(2u—5){du+3)

Solve.

Ax—5)*+28=112
a. —84+.f7
b. 8447

¥ =y’ +4r—6

_1;=—.r3—4r—6

(2r+3)(x—3)
(2r=3)(x+3)

(Tx+6)
(Tx—6)

(4x—5)(4x—5)
(16x—1)(x +25)

==
e

e
wal=-a

e
=1

w (du+5)2u+3)
3 (du +5)2u +3)



Write the expression as a complex number in standard form.

40. (T+9—(-2-3)

a S+ 12 c. 9-12
b, 9+ 12 d 5-12
Solve.

4. ¥ +dr+20=0
a. 2+8 2-8 c. —2+8 28
b. 2+4i2-4i d 2+4i, 24

Write the equation in vertex form: vy =a(x — J':r}2 + k.

46, y=x"+2v+4
a. y=(x+1)*+3 c. y=(x—1)"+4

b, yv=(x+1) +4 d y=(x-1"+3

Find the maximum value of the gquadratic equation.

47, y=-3x"—18—42
4. max ==-3 c. max=-=15
b. max =-63 d.  max =-=42



